NCCTa=TINTRFHE
B H S FI64-3 H 26 H (4k)

[ ES 1] B N — B
Efhr K 4 o B OUT| IN | GR 3%
B g 22 Folfy B K34 41 | 41 | 82 |ANE
PN I ) F G H K24 48 | 48 | 96 |AH

[ =t A1 ]

JIEAE K 4 T & OUT| IN | GR %
s R AL3E FRy H oK g 24 44 | 44 | 88 |ANHE
(Gt D

B K 4 B OUT| IN | GR 3%
B SRR AR Ry B R34 42 139 | 81 |AH

Y T RS AR 47 | 44 | 91 |ANE

3 |HIHI Pk FERAHE 345 48 | 47 | 95 |AH
[P 1]

JIEAE K 4 T & OUT| IN | GR %
BN v 1L TLH FR24E 42 | 45 | 87 |ANE

YR ORBL VD R HR P14 42 | 46 | 88 |ANE

3 |fEE HiR V5 24 59 | 50 | 109 |AH
[/PAEB(4-5-6%4) 51D
JIEAE K 4 & OUT| IN | GR %
BB bV BT A JUNSH BN | 43 | 41 | 84 | AH

YERR| (L BB | RE/NAE 49 | 49 | 98 |ANE

3 | %z JNBE NS 47 | 52 | 99 |ANE
[/NFAEB (4-5-644E) & 1DHk])
JIEAE K 4 AT & OUT| IN | GR 5%
PG S 1T B [Nl NG AR 45 | 43 | 88 |AH

HE ER BIE | EE/N6E 49 | 46 | 95 |AH

3 /NI BB = Ay /NB A 54 | 54 | 108 |AE
[/NRAEAQ -2 34E4E) BFois)
=2 YA = VI 4 i) OUT| IN | GR 3%
B IR iR F KA E/N3AE 81 | 81 |ANH
[/NRAEAQ 2 34E4E) et oS
AR B OUT| IN | GR %
s Ml R TR LN 247 52 | 52 |AE
EEIE O EE  |[RARAEAN3E 66 | 66 | ANE

3 DI AafE /NS 71 | 11 | NE




